HiReRbE sy X —

V-2 048—-551—-0119




ST6444H 1 AHLE

mooAN #E O o1 1 9 F

<z’ % % B F 1 1 9 F
Dﬁ I P & & 1 1 9 %

FEHh )5 1/ — f® o A &\ F
THBH 2 W %o W FE B o =
RO 13 TS b S N S - R
R EA 13 RoAa oBm W v A 7T A
e il 3 NET119BQEBEB®RY AT A
119FHFAX,/ A—/119

% ) fit

i RETHES

ot a—

H + 7 GA 75
fitr VERTHEEIE (2 6 43 [)
2 YRR Y e
i HERY B TN
{7 BENE | |f s S M 450
[ 03 B IEY Y
5B W B X F 543
IRy & M gy B 14
NSy
W E e [ R AT B (7 55 )
R HER 5 2 B R L C U B oo W & B
R F oo M % B
BRI« REOWEPIAL R i
s 5
R &t
ol A = Zan
N T T
T i

,34,



2. THB5 ARSI

ST 644 7 1 BEUE

B IS
oLy B 1 B 2 pa sty | R
10W
Pt & | H £ 7N [ES Srlin (w) Bt & | H £ 7N [ES | (w)
SRRl Lz = %l 10 ZFOL L -0» = %l 10
SRl E1 B O  H| 10 IREOLE1 B @ H| 10
SR E 2 i@ @ 5 FRED1 KRR 7El 10
SR LEE N1 a oW oM E 5 X7 ED 2 R v 7 HE[ 10
SR 1 R naia E BBz TvES 1 KM H[ 10
SRR 2 R v 7 HE[ 5 1 lixtnxwir L1 By TfE #H| 10
SN 1 & % H 5 WX ZEDHRL 1 & %  H| 10
/S BNRS Sl PRl | B 1 = 5 IR E0-HTE 1 KK R 7 El 10
SiREYIL X1 KB T EHE 5 BRZEOLE V1 E OB M | 10
“ SR Lww ) XITAZED 1|E B ik = = 5 N T IHIEXwIHFRTD1 |EEBKARE|] 10
T IH)EWISNVL 1 A B 5 T |ExwHIEwHIEFRTO2 |EEKKREEl 10
T ) EWD SN2 1 A B 5 I72Fn101 # Hr 5
W |eheL&E101 i il 10 g [FRE0102 1 2
SR LE102 # Hr 5 IX72FD 103 e e 5
; S Lx103 # #l 5 XD 104 1 2
101 # #l 5 2R FD 301 1 2
10 2 # #l 5 IR FED 30 2 1 2
E |51 03 # w5 IZRFD50 1 e wl o5
5110 4 # i3 5
5201 # Hr 5 Nbhbél KR FE] 10
5020 2 1% w5 N Txw5Zx0rhbbE 1 |mhkkaR 10
55203 H T jjf L E101 % T
S 2 0 4 # 2 2 |bbE301 # 2
S 301 # 2 bbb i 501 # 2
SR 30 2 # i3 5
SNV KRR 7E] 10
P EEEEN KA 7 H] 10 E‘_ X90 X090 L0 1 [mBUBB AR 10
R |[EwHr>ZxwHrSLEb1 |[EBKkKERE] 10 I rvwnwio1 e e 5
o |»LEb101 # w5 2 [EVWV301 # #wl5
a5 |5t &b301 # w5 rhws01 # #=l5
P KRR 7E] 5 S50 1 1 2
H [Fwr&wrhdsl |EHKBHRER 5 550 2 e e 5
oollkEl101 # #l 5 550 3 # #wl5
A ltk&ar301 # # 5 L 2504 # 2
5 Tz oLz2 W% 10
e ST Rirrrs a [FaZFoLE101 i k| 10
;[EwDEP I 1 R A B 5 ITRZFDLE 102 # Hr 5
7 #2101 % it B II72ZDOLE103 % # 5
E [B2r~301 # #l 5 ZRFED201 # #wl5
T2 ZFD 20 2 # Hr 5
RS KRR 7E] 5
e |Eww o Ew oA LIXL |[EHEKSE 5
g A LiE1 01 # G s Lrho1~35 | w1
S AEEDE HE e L [anzolirnoi~255 B 1

,35,




3. BRAaEwnzE M

B FN54FE
gl B | s | s | s | SO [mae| st | o [meo| mix oee] A
D 1N E 4] 1,458 9 22| 145 593] 308[ 227 3 0 2, 769
éﬁgﬁg% %%Eéa 43| 4, 546 53| 119] 951 52| 112| 1,223 307 0 7, 406
(119%) | L P s 15( 2, 408 3 12 234 13 420 86 5 0 3, 196
/INEE 62| 8,412 65 153 1,330 658 840| 1,536 315 0 13, 371
INER o] 186 2 50/ 143 0 5 36 0 0 422
VPN B i ) 3 99 0 32| 396 0 2 8 0 0 540
/INEE 3] 285 2 82| 539 0 7 44 0 0 962
L 6] 289 55 85 13 0 0 6 1 0 455
BT A5 1 s 1 46 0 2 4 368 62 6 0 0 489
EXCUBR Y AT A 0 46 0 0 8 14 0 21 0 0 89
119FFAX/ A —/L119/NET119 0 1 0 0 0 56 22 1 0 0 80
Z D, 2 60 5] 101 4 5 2 37 0 0 216
ot 74] 9,139 127 423] 1,898| 1,101 933] 1,651 316 0 15, 662
(] - K&, Bah, %@{m%%@ FHERIE, EERO S FEHGA L TR D
WO [ZOMEGE) X, BamGR., AR, fARIEREEZET
<GB TSR] 1%, Ef?*ﬁ%%éﬁﬁ/\ﬁ KERIEH, RERIEE., Kok, RBoHEET
< FAEB D T1197FAX/ A —/L119/NET119] 1%, BEEFEEZ %D O K EBRZE TR
SREBIO T X, FEREm, 8O, SRR, SR, FRI9EL ST
4. YA LU UBRIBHE
45 FN54E
X 4yl 1A 2 3H 4 5H 6 7H 8 9H [ 108 | 118 | 12H | &%
KRG = 0
B | xssEs 0
FIKEGEZ] 1 1 1 1 1 5
JE | kopsze 0
& &t 1 0 1 1 0 0 0 0 1 0 0 1 5
(73] - “FRk29FE4 1 H 2> SR RITEUERR T ¥ Z MAVEE RN 5E T L2209 A L U R S Jii v fE
. BESRATBUERR s -5
45 FNb4E
X syl 1H 2 3 H 4 5H 6 7H 8 A 9H [ 108 | 118 | 128 | &3
o == Pk 0
v ek 0
A IEEIUN 1 4 1 1 3 4 1 1 3 19
PR 1 2 3 1 4 2 7 6 5 2 1 34
Y RN 1 1 1 1 5
% kj‘\’fﬁ\k 1 1 1 1 4
J& | WA 2 2 6
IR 2 1 3
& it 3 3 9 3 6 3 8 10 12 3 4 7 71
6. TRATHA—/NVEET— 245
45 FN54E
X 4yl 1A 2 3H 4 5H 6 7H 8 9H [ 108 | 118 | 128 | &%
s Hi 2k 1 2 2 2 2 9
BEK 1 2 2 2 2 9
A 1 4 1 1 3 4 1 1 3 19
T 1 2 3 1 4 2 7 6 5 2 1 34
& &t 1 3 7 1 6 3 12 13 9 3 6 7 71

,36,




7. RfE - [ERN

45 Fn54E
ARl 1 2 3 4 5 6 7 8 9 10 11 12 i
il A A | A A A A A A A A A A i
YL 0
i 28 23 23 18 9 11 20 14 14 23 23 26 232
PN
= 3 3 4 7 15 15 10 17 15 6 7 5 107
fize
5] 1 4 5 7 4 1 1 2 25
e 1 1
pedevs | Abdevs | Abv evE Jeve eve | dbdevE | mEER | vEAEVE | vEARTE | pEdbE | AR
=] j( -
Ja = ETPN
30.4 | 20.2 | 22.6 | 23.9 [22.7 | 265 |14.5 | 155 |22.9 | 18.3 |23.0 |24.1
30. 4
3
VEdbE | vEdbve | wEARYE | PEAEYE | REER AR MR MR M | WALV | ARV | PEAETE
L
i )
3.0 3.3 2.4 2.9 2.2 1.8 1.7 1.8 1.4 2.7 2.4 2.4
n/s 2.3
L w5
el 14.3 [18.4 [23.4 [30.1 [35.1 [351 |39.8 |38.6 [36.6 |27.6 |27.3 |20.0
= 39.8
K
. k| -5.2 | 4.0 |-0.1 3.4 7.6 13.8 | 21.1 | 22.7 | 16.0 8.6 1.0 | -2.5
=) -5.2
S
S| 4.2 5.6 |11.9 | 15.4 | 18.9 | 23.4 |[28.9 |29.6 |26.6 |17.9 [12.3 | 7.5
C 16.9
N A
| k] 20.2 [ 13.8 [11.3 | 11.3 | 18.0 | 23.3 |27.5 |36.3 |43.8 |30.5 |24.7 |22.7
11.3
= S
Ty 61.9 | 59.8 |69.4 | 62.8 | 71.3 [ 80.4 | 75.8 | 80.9 |84.4 |72.1 |74.7 |68.7
% 71.9
Eﬂ%ﬂ(iﬂlm 1.0 16. 5 60.5 18.0 64.0 211.0 19.0 111.5 103.5 58.0 36.0 6.5 705.5
M RAETL RO 2> & 1% 3IRF & T D E D K

KK EITA B OEFHNE

,37,




8. KRHHZIIH

N5
- B v mlen|sn|anlsn|en|zalsnloaliod 1A 2443
JEE 0
K= 2 2
fEGiR 1 1
7 sl 7l 2] 5|1 1 1| 3] 5 | 28
= 1 3 4| 4| 8 | 1al1e]1a] 8| 2] 1|7
BHE AKX 1 1
7 5 1 7| 3| 4| 2 1 6 | 28
i e 0
@ sz 8 | 6 | 3| 7 1| 3] 7| 2|37
Kl 13| 1] 3| 2|1 11
Fist 1 9 10
=K 0
B 1 1 1 3
RIEH 0
Hit B 0
/e 1017 1728|1119 15| 2 | 19| 14] 12| 14|19
7 0
K= 1 1
Z: RN 0
2 ZNGl 1 1
H ek 0
=K 0
Hit i B SR 0
/NEF ol 1 lof]olofl1]o|lof| o] of| o] o]z
2 JE 0
¥ RE 0
# N 0
INE ol olo]oloflo]o|lof|o]|]of| o] of]o
KSR REER 21 | 23 | 12 | 14 7 1 3 4 17 | 102
- T R FHE NG ) 0
% HRIEE SR 2 1 3
1 [rosevmmem i 0
i BEET T T — b 1| 13| 1 25
INE 21 | 23|12 1a| 7| o |13 |13] 3| 3| 4] 17|13
= 31 | 41 | 29 | 42 | 18 | 20 | 28 | 33 | 22 | 17 | 16 | 31 | 328

KRR GRIHIT, BRI RSB R RO KK DIE LT VKRG H

,38,




